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1. (30 43, BV/INESSY) FBHORE T ERHEHERVRE - |
(a) stack, (b) queue, (c) priority queue, (d) binary searh tree, (¢) max heap, (f) height balanced tree.

2. (20 43, 15/ INES5Y) IR —1{E root ENBE(EAEES 5)BY tree » KFFIIA 1,2,3,7,8,9 » HiX tree 5
(a) binary searh tree, (b) max heap, (c) AVL tree, (d) 2-3 tree,
AR RAESRHEY tree A8 -
3. (10 53, 55/ INE55Y) T (2) BFF (prefix) Fl (b) 8 FF(postfix)Frnik - RHEE THIER -
atb*(c—-d)/(e+f)

4. (20 53, B/INES5Y) $HHETHY tree » SHEHLHEH N traversal FINER °
(a) preorder, ( b) inorder, ( c) postorder, (d) levelorder.
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5. (2053, /1NE1053) 7 (2) £ Stack F1 Queus 1l (b) A Stack I Queus + SEEVE T function {5
HAT PSR AR TR R palindrome > ZEHEHtrue » ZHIE{E false » JH function H5E
£ 5% bool isPalindrome(string inputStr) » 4 inputStr EFZEFRAIRIFER - 5 ¢ F7EE palindrome
B IEE SRS E S EFEHERIACE » B4 abba Epalindrome * ffij baba (BOEZRZ abab) R & o

bool isPalindrome (string inputStr) bool isPalindrome (string inputStr)

{ {
if (inputStr.size()==0) return false; if (inputStr.size()==0) return false;
if (inputStr.size()==1) return true; if (inputStr.size()==1) return true;
int 1 = 0, j = inputStr.size() - 1; Stack<char> myStack;

Queue<char> myQueue;

//BER¥ inputStr.at (1) R FRBETENET
//BERF inputStr.at (j) MR FERE —EET for (int i=0; i<inputStr.size()

myStack.push(inputStr.at(i));

myQueue. enqueue (inputStr.at(i))
}

;; Egé myStack. pop () &EH#E FIE=ET
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